

KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

ORIGINA Form ACO-1
September 1999
Form Must Be Typed

Operator: License # 5039	API No. 15 - 191-22539-6000
Name: A G V Corp.	County: Sumner
Address: P. O. Box 377	C NW NE NE Sec. 30 Twp. 31 S. R. 2 East X West
City/State/Zip: Attica, Ks 67009	330 feet from S / (Circle one) Line of Section
Purchaser: None	990 feet from (E) / W (circle one) Line of Section
Operator Contact Person: Larry G. Mans	Footages Calculated from Nearest Outside Section Corner:
Phone: (620) 254-7222	(circle one) (NE) SE NW SW
Contractor: Name: VAL Energy Inc.	Lease Name: Crowe 08
License: 5822	Field Name: Osborn NW
Wellsite Geologist: <u>Kent Roberts</u>	Producing Formation: None
Designate Type of Completion:	Elevation: Ground: 1312 Kelly Bushing: 1322
New Well Re-Entry Workover	Total Depth: 3960 Plug Back Total Depth:
Oil SWD SIOWTemp. Abd.	Total Depth: 3960 Plug Back Total Depth: 265   Amount of Surface Pipe Set and Cemented at Feet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used?
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth setFeet
f Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator:	foot don'th to
Vell Name:	Pelling Shild Manager St.
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)
Deepening Re-perf Conv. to Enhr./SWD	Chloride contentppm Fluid volumebbls
Plug Back Plug Back Total Depth	Dewatering method used
Commingled Docket No.	Location of fluid disposal if hauled offsite:
Dual Completion Docket No	
Other (SWD or Enhr.?) Docket No	Operator Name:
7-2-2008 7-11-2008	Lease Name: License No.:
pud Date or Date Reached TD Completion Date or Recompletion Date	Quarter Sec TwpS. R East West
The second secon	County: Docket No.:

All requirements of the statutes, rules and regulations promulgated to regulate the oil and gas industry have been fully complied with and the statements herein are complete and correct to the best of my knowledge.

Signature: Divery & Mans
Title: Secretary Date: 12/12/08
Subscribed and sworn to before me this 12 day of December
1¢ 2008
Notary Public:
Pate Commission Expires: KAYAN TOMPKINSON State of Kansas
My Appl. Exp. 4

**KCC Office Use ONLY** 

Letter of Confidentiality Attached

If Denied, Yes Date:

**UIC Distribution** 

Wireline Log Received RECEIVED

Geologist Report Receive ANSAS CORPORATION COMMISSION

DEC 15 2008

CONSERVATION DIVISION

WICHITA, KS

•	G V COPP	<del>  (  ()  </del>	Le	ease Name:	Crowe		Well #: <del>0</del>	8
Sec. 30 Twp	31 s. R. 21-	East X	West Co	ounty:	Sumner			
INSTRUCTIONS: Stested, time tool operature, fluid re Electric Wireline Log	en and closed, flowing covery, and flow rate	g and shut-in pr es if gas to surfa	essures, whethe ce test, along w	er shut-in pr	essure reached	static level, hydr	ostatic pressur	es, bottom hole
Drill Stem Tests Take		∑ Yes	□No	·□ ا	_og Format	ion (Top), Depth	and Datum	Sample
Samples Sent to Ge	ological Survey	☐ Yes 1	⊠No	Nan	ne		Тор	Datum
Cores Taken Electric Log Run (Submit Copy)		\ =	∑No ∑No					
List All E. Logs Run:								
			CASING RECOF		ew Used ermediate, produc	tion at-		
Purpose of String	Size Hole Drilled	Size Casi Set (In O.I	ng	Weight bs. / Ft.	Setting Depth	Type of Cement	# Sacis Used	Type and Percent Additives
Surface Ca		8 5/8	2.	· · · · · · · · · · · · · · · · · · ·	265'	60/40	195	1% Gel 2% CC
		ADD	ITIONAL CEMEI	NTING / SQL	JEEZE RECORD	)		
Purpose: Perforate	Depth Top Bottom	Type of Cen	nent #Sa	#Sacks Used Type and Percent Ad		Percent Additives		
Protect Casing Plug Back TD Plug Off Zone	0-600	60/40 1	Poz 12	0 4% Ge	<b>e1</b> 1	P & A	· .	· · · · · · · · · · · · · · · · · · ·
Shots Per Foot	Specify F	ON RECORD - Br Footage of Each Ini	idge Plugs Set/Ty terval Perforated	/ре		cture, Shot, Cemen		d Depth
			,				<del></del>	
TUBING RECORD	Size	Set At	Packe	er At	Liner Run	Yes No		
Date of First, Resumerd	Production, SWD or Ea	nhr. Produ	cing Method	Flowing	Pumpir	ng Gas Lif	t Othe	r (Explain)
Estimated Production Per 24 Hours	Oil E	Bbls. G	as Mcf	Wate			ias-Oil Ratio	Gravity
Disposition of Gas	METHOD OF C	OMPLETION	<del> </del>		Production Inter	val	<del></del>	
Vented Sold	Used on Lease nit ACO-18.)	= '	en Hole P	Perf. D	ually Comp.	Commingled		



Land to the second

24 S. Lincoln Street P.O. Box 31 Russell, KS 67665-2906

Voice:

(785) 483-3887

Fax:

(785) 483-5566

Bill To:

AGV Corporation P O Box 377 Attica, KS 67009 INVOICE

Invoice Number: 115021

Invoice Date: Jul 11, 2008

Page:

1

. \_\_ \_\_ .....

F^-'

11730

CustomerID	Well Name# or Customer P.O.	Payment Terms			
AGV	Crowe #8	Net 30 Days			
Job Location	Camp Location	Service Date	Due Date		
KS2	Medicine Lodge	Jul 11, 2008	8/10/08		

Quantity	item 🦠	Description	Unit Price	Amount
72.00		Class A Common	15.45	1,112.40
48.00	MAT	Pozmix	8.00	384.00
4.00	MAT	Gel	20.80	83.20
124.00	SER	Handling	2.40	297.60
75.00	SER	Mileage 124 sx @.10 per sk per mi	12.40	930.00
1.00	SER	Rotary Plug	1,017.00	1,017.00
75.00	SER	Mileage Pump Truck	7.00	525.00
		·	RECEI	VEC.
			KANSAS CORPORAT	
			DEC 15	2008
			CONSERVATIO WICHITA	V DIVISICIM
L				

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 434 92

ONLY IF PAID ON OR BEFORE

Aug 10, 2008

Subtotal	4,349.20
Sales Tax	274.00
Total Invoice Amount	4,623.20
Payment/Credit Applied	
TOTAL	4,623.20

434.92

PAID JUL 3 0 2008

4188.28

## ALLIED CEMENTING CO., LLC. 30984

RANGE

ചധ

T.D. 3960'

DEPTH 26.5

DEPTH 600'

DEPTH

**DEPTH** 

Fresh water **EOUIPMENT** 

REMARKS:

60:40:4% Gel

60:40:4% Gel

DRIVER

3lc

1 TO P.O. BOX 31 RUSSELL, KANSAS 67665

SEC.

DATE 7-11-08 30

OLD OR NEW (Circle one)

CONTRACTOR 1101 #2

TYPE OF JOB ROTARY

DRILL PIPE 41/2 xhole

HOLE SIZE 7

TUBING SIZE

PRES. MAX

MEAS. LINE

**PUMP TRUCK** 

#360-265

**BULK TRUCK** 

600'-355x

300'- 35sx

1- 15 SX

#389 **BULK TRUCK** 

TOOL

PERFS.

CASING SIZE 858

CEMENT LEFT IN CSG.

DISPLACEMENT

LEASE Crowe | WELL# 8

SERVICE POINT: medicine lodge, Ks. CALLED OUT 2:007.m. B:004.W 10. ENISH NO. 80. ON LOCATION 6:00P.m. COUNTY LOCATION 160+49 Fct. 30 to Co. RD. 40th 334 East, to Sumner RD. In w/s OWNER AGU COM. **CEMENT** AMOUNT ORDERED 120 SX 60: 40:4% GC MINIMUM\_100 COMMON 72 A @ 15.45 1112.40 SHOE JOINT @ 8.00 384.00 POZMIX \_\_\_ 48 Y @20.80 83.20 GEL @ \_\_\_\_ CHLORIDE \_\_\_\_\_\_@ CEMENTER LARRY Dreiling \_\_\_\_\_\_@\_\_\_\_\_ HELPER JASON Kessler @ \_\_\_\_\_ DRIVER RICK MITANDA HANDLING 124 MILEAGE 75 × 12 4 × 10 930,00 TOTAL 2807.20 60: 40: 4% Gel 60: 40: 4% Gel **SERVICE** DEPTH OF JOB PUMP TRUCK CHARGE EXTRA FOOTAGE\_\_\_\_\_ @ \_\_\_\_ Cemented W/1205x 60:40! 40/0 Gel MILEAGE 75 @ 7.00 525.00 MANIFOLD \_\_\_\_\_\_@ \_\_\_\_\_\_ @ CHARGE TO: AGU COLD. TOTAL 15 42.00 CITY\_\_\_\_\_STATE \_\_\_\_ZIP\_\_\_\_ RECEIVED KANSAS CORPORATION COMMERCIEN
PLUG & FLOAT EQUIPMENT DEC 15 2008

> CONSERVATION DIFFERENCE WICHITA, KS@

To Allied Cementing Co., LLC.

STREET \_\_\_\_



24 S. Lincoln Street P.O. Box 31 Russell, KS 67665-2906

Voice: Fax:

(785) 483-3887 (785) 483-5566

Bill To:

Attica Gas Venture Corp 123 N. Main

Attica, KS 67009

## INVOICE

Invoice Number: 114896

Invoice Date: Jul 3, 2008

Page: 1

71730

: Customer ID	Well Name# or Customer P.O.	Paymen	t Terms
Attica	Crowe #08	Net 30	
Job Location	Camp Location	્રા: .Service Date ડાંડ	Due Date
KS2	Medicine Lodge	Jul 3, 2008	8/2/08

Quantity	(Caraltem Says	Description	Unit Price	Amount
117.00		Class A Common	15.45	1,807.65
78.00	MAT	Pozmix	8.00	624.00
3.00	MAT	Gel	20.80	62.40
6.00	MAT	Chloride	58.20	349.20
204.00	SER	Handling	2.40	489.60
75.00	SER	Mileage 204 sx @.10 per sk per i	20.40	1,530.00
1.00	SER	Surface Casing	1,018.00	1,018.00
75.00	SER	Mileage Pump Truck	7.00	525.00
1.00	SER	Manifold Head Rental	113.00	113.00
1.00	EQP	Wooden Plug	68.00	68.00
			RECEIVE S	
ALL PRICES AI	RE NET, PAYABL	E Subtotal DE	C 1 5 2008	6,586.85

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 658.68

ONLY IF PAID ON OR BEFORE

Aug 2, 2008 🚈 🕆

Subtotal	DEC 1 5 2008	6,586.85
Sales Tax	CONSERVATION DIVISION	183.41
Total Invoice Amount	WICHITA, KS	6,770.26
Payment/Credit Applied		
TOTAL		6,770.26

658.68

6111.58

: PAID JUL 3 0 2008

## ALLIED CEMENTING CO., LLC. 31196

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665

To Allied Cementing Co., LLC.

SERVICE POINT:

MEDICING LODGE

	SEC.	TWP.	RANGE	CALLED OUT	ON LOCATION	JOB START	JOB FINISH		
DATE 7-3-08	30	315	20	1100 pm	4.30 pm	7400 pm	7:30,00		
LEASECHOWE	WELL#	08	LOCATIONCONA	JAY STUNES, KS,	5 SOUTH W	COUNTY	STATE		
OLD OR NEW Cir	rcle one)			AST, INDATH,		to			
CONTRACTOR	VAL 3			OWNER AT	TICA GAS VE	intukes			
TYPE OF JOB Se		CASING							
HOLE SIZE 12	44	T.D	270	CEMENT					
CASING SIZE 8	3/8"	DE	PTH_265	AMOUNT OR	DERED	ex 60:40	12+3% cc		
TUBING SIZE	<del></del>	DE	PTH						
DRILL PIPE 4	24	DEI	PTH						
TOOL		DEI	PTH						
PRES. MAX 20	<u> </u>	MIN	NIMUM /	COMMON	117 A	@ 15.45	1807.69		
MEAS. LINE		SHO	DE JOINT 15	POZMIX	78	@ <i>8.00</i>			
<b>CEMENT LEFT IN</b>	CSG. /	<b>'</b> 5'		GEL	. 3	@ 20.80			
PERFS.				CHLORIDE	10		349.20		
DISPLACEMENT	15-4	661. AL	SH auster	ASC		@	017100		
	FOI	JIPMENT				@	<del></del>		
	EQC	OLK IVILLIA				@			
DITH AD ODD LIGHT				<del>-</del>		@			
		ER				@			
	TELPER	GKEG	<b>6</b> .			@			
BULK TRUCK			\			@			
	DRIVER	NEWS	on D.			. @			
BULK TRUCK						@			
<u>#</u>	DRIVER			- HANDLING	204	@ 2.40	489.60		
					5 X 204 X		1530.00		
	REN	MARKS:		MEERICE		-			
PIPE ON BOTTO , PI PLET FUSH , PI STOP PUTYS,	IND 19. KGZEA	SSX 60 SE PLU	:40:2+38cc	<u>-</u>	SERVIC		4862.8		
DISPLACEMEN					B <b>_265</b>				
DISPLACE WE				PUMP TRUCK			1018.00		
STOP PUMPS, S.		s, cike	CULATO	EXTRA FOOT	AGE	@			
CEMBINT,				MILEAGE	75	@ 7-00	525.0		
				— MANIFOLD 🗸	YEAD RENT	@ 1/3,00	113.00		
				DECEIVED	)	@			
				KANSAS CORPORATION C	OMMISSION	@			
CHARGE TO: ATT	TICA G	AS VE	NEUKE-S						
				— DEC 1 5 20	100	ТОТАТ	1656.0		
STREET				CONSERVATION DI	VISION	IOIAL	1636.0		
CITY	er.	ATC:	710	WICHITA, KS	3				
CII 1	\$17	41 E	ZIP	<u> </u>	PLUG & FLOAT EQUIPMENT				
				85/2" Wan	on plus 1	a le m	100 A		
				O o proce		_	08.00		
						@			